SAT Practice Test 1

30 multiple choice math questions (and solutions)
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Topics include area, exponents, sequences, inequalities,
probability, square roots, word problems, and more.



SAT practice test

1) If 2x+7=13, whatis 4x—77?

a) 3
b) 5
c) 7
d) -3

e) —5

2) The mean of x and yis 9. And, the mean of x, y, and zis 11. What is z?

a) 9
b) 10
c) 11
d) 13
e) 15

3) What is the area of the shaded region?
(The figure is a square inside a square)

a) 16 +2z 8

b) 32— 4z

5
c) 64+z"

d) 64 — 72 z

e) 32— 7?

4) Team "hoops" scored 1/4 of their points in the 1st quarter; 1/3 of their points in
the 2nd quarter; 1/5 of their points in the 3rd quarter.
If they finished with 60 points, how many did they score in the 4th quarter?

a) 12
b) 13
c) 14
d) 15
e) 16

9 22X+1: SX_] Find x:
a) —1

b) 2

c) 4

d) 12

e) 2/3



SAT practice test

6) If 4 less than twice a number is ten, what is the number?

a) 4
b) 7
c) 18
d) 24
e) 30

7) The following is a circle inscribed in a square. If the perimeter of the square is 16,
what is the area of the circle?

a) 41
o o1 N
c) 16T
d) 247 /
e) 327

8) Whatis fg(2))?

a) -1 X @ X | g(x)
b) 0 -1 (-2 -1 -3
0 1 0 (-1
C) 2 1 2 1 1o
d) 3 2 |3 2|1
3 |5 3|3
e) 5

9) For the following sequence, T,=5 T, =T, *3
Whatis Ty ?

a) 27

b) 29
c) 32
d) 33
g) 35

10) What is the slope of a line parallel to 4x + 3y =127

a) 4
b) —4
c) 3/4
d) —3/4
g) —4/3



SAT practice test

11) m+3n-1)=p n—-1=7
a m+p
3

bym—p
3

c) p—m
3

d) 3m
P

e) 3p_
m

12) Which of the following is

a) x+2/>5

| |
T I
b) x+2/ =5 -5 0 5
¢ x+2/<5
d [x+2/<5

&) none of the above

13)

x+%=5+ Find x:

r.’||!.».)

a) 3/5
b) 5/3
c) 5
d) 15
e) 1/5

14) Find x
a) 0
b) 1
c) 3
HA2

g) 9 4

15) If you roll a 6-sided die twice, what is the probability that the first roll is
greater than the second?

a) 1/3

b) 15/36 .
c) 1/2

d) 21/36

e) 1



SAT practice test

16) Estimate P-R

a) A
b) B

d) D
e) E

17) 3x—2y=21
If y=x—1, whatis x?
a) 11
b) 16
c) 19
d) 23
e) 24

18) A3 x A6 =
a) 302
b) 343
c) 3
d 243
e) 3pAf6

19) Find the perimeter of AABC

a) 2 A
b) 15

c) 30 12

d) 35

A P BR ' cpD | E |
C)C —’—0—.—‘—0—.|==| -

g) 45 -

20) The sum of 4 consecutive even integers is 900. What is the value of the smallest integer?

a) 220
b) 222
¢) 225
d) 228
e) 230

M



SAT practice test

21) At the ice cream shop, there are 5 flavors and 3 toppings. If a child may order only 1
flavor with 1 topping, how many choices does he have?
a) 3
b) 5
c) 8
d) 15
e) 20

22) In the morning, you drove 45 mph to the beach. In the afternoon, you drove 30mph back home.
If the total time in the car was 1 hour, how far do you live from the beach?
a) 15 miles
b) 18 miles
c) 21 miles
d) 25 miles
e) 37 miles

23) x_ 3 Whatis 2% 2
y 4 3

a) X

by

c) 4/3

dy 1

e) 12

24) Theratioofatobis 2:3. Find La

a) 30

b) 32

c) 36

d) 40 b
e) 45 '

25) x*+yZ=111 =xy=44

Find (x+y)

a) 111
b) 155
) 178
d) 199
e) 310



SAT practice test

26) Whatis 20% of .47

a) .08
b) .8
c) 2
d) 8
e) 16

27) 2x<y<0  Which is the largest value?
a) x
b) 2y
c) 2x
d) 2y
€) 7Yy

28) 23 12
) 8§ +9 =

a) 6
b) 7
c) 10.5
d) 12
e) 14

29) Find the area of the trapezoid.
a) 36
b) 40 8
c) 42 |
|
4
d) 50 !
&) 60 :

Lh

30) What is the probability of choosing a student who is on the basketball team?

a) .08 (B: basketball players  F: football players)
b) .12
c) B8/44 5
d) 12/44 g
e) 12/56
56




It is one question: find the surface
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‘ SAT practice test ‘ SOLUTIONS

1) If 2x+7=13, whatis 4x—77?

3 3 2% +7=13
Xx=3
c) 7 Then, 4(3)—7=35
d) -3
e) —5

2) The mean of X and y is 9. And, the mean of X, y, and zis 11. What is z?

a) 9 Xty -

b) 10 2 o Then, x +3y +z 1 Example: x=6 y=12 z=15
+y=18 ,

9 11 Y 18+ z mean of x and y is 9

d) 13 3 11 mean of x, y, and z is 11

z=15

3) What is the area of the shaded region?
(The figure is a square inside a square)

a) 16 + 2z 3

b) 32 -4z area of big square: 8 x § = 64

c) 64+ 22 ) i, area of little square: zxz= 72

d) 64— 72 2 shaded area = big square - little square
€) 32— 72 = 64—72

4) Team "hoops" scored 1/4 of their points in the 1st quarter; 1/3 of their points in
the 2nd quarter; 1/5 of their points in the 3rd quarter.
If they finished with 60 points, how many did they score in the 4th quarter?

a) 12 X = points in the 4th quarter
1/4(60) + 1/3(60) + 1/5(60) + x = 60
c) 14 15+20+12+x=60
d) 15 x=13
e) 16

(rewrite with 'common bases") R
a) —1 check: 2° = 8° Vv
b) 2 22x+1:(23)@"1)
Then, solve for the exponents...
d) 172 2x+1=3x-3

&) 2/3 x=d



SAT practice test

SOLUTIONS

6) If 4 less than twice a number is ten, what is the number?

a) 4

c) 18
d) 24
e) 30

let x = "the number"

2x—4=10 ("4 less than twice a number is ten")

7

X =

7) The following is a circle inscribed in a square. If the perimeter of the square is 16,
what is the area of the circle?

b) 87T
¢) 16T
d) 24T
e) 32T

perimeter is 16, so each
side is 4..

therefore, radius of
inscribed circle is 2..

area of circle = T1'(2)~

8) Whatis fg(2))?

a) -1
b) 0
d) 3
e) 5

9) For the following sequence, T,=5 T, =

a) 27
c) 32
d) 33
e) 35

X | /X
g@)=1 -1 -2
0 |1
D=2 1 |2
2 |3
3|5

What is T9 ?

.8

-

4
2
4 4
4
x| &
-1|-3
0 |-1
10
[2]1]
3|3
+3
.11, 14, 17, 20, 23, 26, 29

34 5 6 7 829

(=]

T, to T is 8 'mowves'... each move is +3...

Therefore, add (8 x 3) to Ty

5+24=29

10) What is the slope of a line parallel to 4x + 3y =127

a) 4
b) —4
c) 3/4
d) —3/4

(change to slope intercept form)

Jy=—4x+12

y=—4/3x + 4



SAT practice test

11) m+3n—-1D=p n—-1=7

a m+p Jn—-1)=p—m
3

p—m

b) m—p m-1)="—
3 Il

c) p—m
3

d) 3m
p

e 3p_
m

12) Which of the following is

a)

x+2/=5 |

SOLUTIONS

b) 5

¢ x+2/<5

d) xk+2/<5

x+2=35

&) none of the above

13)
x +

o

a) 3/5
b) 5/3
d) 15
e) 1/5

Tust substitute x for 5..

14) Find x

a) 0

c) 3

A2

x+2

(open circles eliminate = or <)

Each side of the equal sign is identical!

pythagorean theorem
(or special 3-4-5 right triangle)

x+2=3

e) 9

x=1

15) If you roll a 6-sided die twice, what is the probability that the first roll is

greater than the second?

a) 1/3

b) 15/36 -,
c) 112

d) 21/36

e) 1

There are 36 possible outcomes:

6 are the 'same': 1/1 2/2 3/3 ...
Of the 30 remaining,

15 will have 1st roll > 2nd roll

15 will have 2nd roll = 1st roll



SAT practice test

SOLUTIONS

16) Estimate P-R

2 A P and R are negative;
b) B so, PR must be

positive... A, &+« o 1€ D E |
C) C T - T & i
R is approx. -1/2 2 1 0 1 2

P is approx. -5/4
e E PR is approx. 5/8

17) 3x—-2y=121
If y=x—1, whatis x?
a) 11 direct substitution:

b) 16

— 7 2=7
d) 23 x—2x+2=21

3x—2(x—1)=21

e) 24 x=19

18) A3 x A6 =

b) 34/3

c) 3
d 243
e) 3pAf6

19) Find the perimeter of AABC

a) 2 ratio of LMN to ABC A
b) 15 is 6:12 or 1:2

6
therefore. perimeter 12 ‘

C N M
g) 45 B

20) The sum of 4 consecutive even integers is 900. What is the value of the smallest integer?

a) 220 I L D 4 279 4 9779 —
o) 222 x = smallest integer 222 +224+ 226+ 228 =900 L
) X + 2 = 2nd even integer
c) 225 (x + 2) + 2 = 3rd even integer x=222
x +2) + 2) + 2) = 4th even integer
o 28 (x+2)+2)+2) :

e) 230 the sumis 4x+ 12 = 900
4x = 888



SAT practice test SOLUTIONS

21) At the ice cream shop, there are 5 flavors and 3 toppings. If a child may order only 1
flavor with 1 topping, how many choices does he have?

a) 3
b) 5
c) 8

e) 20

5 flavors x 3 toppings = 15 possibilities

22) In the morning, you drove 45 mph to the beach. In the afternoon, you drove 30mph back home.
If the total time in the car was 1 hour, how far do you live from the beach?

a) 15 miles d=rt

b) 18 miles 45mph(t) = 30mph(l —t)

¢) 21 miles tobeach  d = 45mph (f) 45t = 30 — 30t d=45(2/5)=18

d) 25 miles to home d=30mph (1—1t) 75t =30
€) 37 miles
t= 2/5
23) x_3 Whatis =X 2
y 4 3y

2) x cross multiply
b) y 4x =13y
c) 4/3

divide both sides by 3y

e 12 3y

24) Theratioofatobis 2:3. Find Za

a) 30 a+b=090

b) 32 (using the ratios)
2x+3x=090

d) 40 x=18 b
a=36 b=54 !

e) 45

25) x*+y?=111 xy=44

Find (x +7y)°
(X+y)2 = x? +2Xy+y2
a) 111
yl yl
b) 155 = X +y" +2xy
¢) 178

= 111 +2(44)
.

e) 310



SAT practice test SOLUTIONS

sin &
f=) oo,
26) What is 20% of .47? o
X
>
20x .4=.08 mathplane.com
b) .8
c) 2
d) 8 1/5 of 4is .08
e) 16

27) 2x<y<0  Which is the largest value?

a) x compare -- dande: -y>2y (becausey is negative)
b) -2y this eliminates d
c) 2x cande: -y>0 2x<0
this eliminates ¢
d) 2y
e) -y bande: -2y>-y (because both are positive)
aand b: -2y > x (because X is negative)
28) 23 12
g8 +9 =
a) 6 4+3=7
c) 10.5
d) 12
e) 14

29) Find the area of the trapezoid.

a) 36
8 Area=1/2 (b 1+ b,)h
c) 42
) S/ 4 =1/2 (8 + 12)4
d) 50 : - B
&) 60 ; ' ; =40

30) What is the probability of choosing a student who is on the basketball team?

(B: basketball players  F: football players)

a) .08 probability = - of 'successes’
b) .12 *  # of 'outcomes’
c) B8/44 5
= 12 basketball players
d) 12/44 100 total students g
e) 12/56
= .12




How did you do?!?

Want more test prep questions?

1) When x =4 and y = —3, the value of 2x2—2y is

a) 10
b) 22

o 200 SAT/ACT

e) 54

2) A car gets 30 miles p Math

how much will it cos

osm Practice Questions
:3 ﬁiiﬁ (and, Solutions)

e) $538

3) Find the greatest common factor of 36, 84, and 132.

a) 2
b) 4
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